SR U] ERCREREET FRGEA TER b IR
. B
) fﬁ;ﬁﬁ?gj%;ﬁlfj F‘j@(r:
(1) Pl ﬁF PRt BENES 25 ] T

(2) ”?ﬂi EIRE T AU L e %iﬁ;n 5T o

(%) 2IEHpofle
(1) T FV I PTG RO 2 S SRR

() FIBER S o

(1) 7 F 2 A R RLA - O AEE
SHE] T (@) WA T (R

“ﬂi/[‘ :

) R -

TEl J%{Oﬁ“ﬂﬁlf& BNE 6L -6 pRA o BN 2 )R fs AT o
BB L TR PSRRI Y ) 500 AL TRIEE 4500 2 AL 3T ) 600 2 R it ;

Eﬁﬁﬁ S 10007%|J+10007‘U_1~%<ﬁ ) Ji[iﬁfkﬁifﬁ 3000 7 ' I') H Fh T o
it oD A B3 2 Kr;ﬁ[’%’{:+3 53 ’ﬂﬂﬁﬁ*BXG SOOI IJF:HEW RS

(2) SEpT R PR T

SRS

F+ Fﬁ@ﬂliﬁ'ﬁﬁ sy T I F+ Eﬁ[ﬁgﬁ%ﬁgj s Ry T |
T PRI 0 T T IR e T
3. [l T3y (D43 s T E
s D= T .
(1) 7-3=2 D3-SR ?




() Gl iEY T
FISRITR % R gr il L RL SRR 2
5 PHEEL YT A -

(1) bl R i

(2) O g TR 1 2




T S B
(- ) BeRst s R (O + BRI ~ Ty ~ BT R

) g

B

d | | | |
T 1 | 1 1
5 -4 -3 -2 -1

o0
- >

(1) i/[lﬁ%)' ’ AEﬁDB @#{’?%—T RSBy Bl £S5 A1-5
FERPRL ) o S It AR S T g o SR ROBREEAEI S i B P
A5 2 kA~ B A5 pURE~ Birkl 5 - —5#[%“95%5 °
7 - 8p UFE BkL ) _3,5p SRR BrRL

Q) SITHF > W FIEIE T — ) SRR B s [ SRR T — ) BERERLEIG
FE > 14 FOAES BPRL 4 » afOfE Bkl —(4) =4

Il —-n=___  »—(-(2)=___
K R TR B0 - apuffe AL :

BT 1 s STHIES -7 > —0.98 » g ’ 3%’!@&“‘3%\% BI2 + e AT AR 7 Sl R

O—(-18) = ° O-(-(-1)= °

B3 Y -akl2 > Eijfcafl %) 2

(Z) g -
(1) Fug[l 5
A Bk Ok IRLS A B RROSRASRLS B BiTRA O EIRL -5 - B B RIRAVERASRLS -
— (WA J%J‘J“*’F’L%Jq&lﬂﬁp«_ L (R AT -
|5 pusBIsfRLS » —5AUREISHEALS -
e (B pUResig ) F 0 SUiERLE =5 > [-5/=5 -
(7] : -SRI RL |11 = :
B4 ¢ ST T/IJF‘,E?ﬁ%ﬁ?ﬁ@ :

9999
@ 10000

@ -10000 ® —(-9999) @ spuftI~He




= g@@aama& R
(=) BRI ET

B AR PR © B b A R Y T AR T R
CRABEET) T ) 27 SHBERL) T — ) &)
B T T b R -
- +3 +2 (+3) +(+2)
- —4 2
= +4 —2
P —2 +3
S -3 +1
(o2 e S [ﬂ'ﬁ“ FIVITRE - (1R 2 2 AOip g i =)
AT URANES e UM SN 1. RIS " IR — 3t PIRIEIR]
2 MR T+ ERE R
() FE- R |
=T T A T
(2) BT iR AR 7 :
SRR J T S S S A A S
(3) B = ol e - 2 ,
Gl A A
(4) B SUIDHAOIE S i - 2 :
ST % 5 . 5 2 1 o 1z 3 o4 5
(5) B B poipl L A [~ 7
P T S s S S

BBk A 5 5 4 3




[P | GRS ™ 11 = o

(V) 8r+ 18

o5+2=
5+3=
5+4=
o+5=
5+6=

[N [ [ Sy e [ [ I S N NG

-11-10 -9 -8 -7 6 -

QL8+ i

5+(-2)=
SHI=
54(-4)=
SH-9)=
5H-0)=

I .

-11-10 -9 -8 -7 -6 -

For e

] ]
I UL
6 7 8 9 1011

(3) F1r+ Fige

(9+2=
9+
(H+4-
(9+(5=
(9+(6)=

-11-10 -9 -8 -7 6 -

(4) 1+ T8

(5+2-
(543
(5+4-
(545
(5+6-

-11-10 -9 -8 -7 -6

'
For B




(7) BRI

[P GRS ™ S = o

(V) -8r—1-8

GGG IS RS,
|

O O W N
[

o -4

Q- fir

5 (-2)=
5-(-3)=
5—(~4) =
5 (-5) =
5—(~6) =

© —+

I I
10 11

(3) F®— I8

(5)—2=
(-5-3=
(-5)-4=
(-5)-5=
(-5)-6=

4

-11-10 -9 -8 -7 6 -5 -4 -3 -2

|1
1
-1 01 2 3 4

o -+

© —+

I
10 11

(4) 18— FiBr

(5-(2-
(5-(9-
(5-(4-
(5-(9-
(5-(9)-




() WSS ET TR
SRR I SRR > 2 S R

@ 1+6= ® 1-6=

@ (-2)+(-5)= (-2)-(-5)=
® (9+(-7)= @ (-9)-(-7)=
@ (-12)+(-28)= @ (-12)-(-28)=
® 1+(-6)= ©@ 1-(-6)=

® (-2)+5= (-2)-5=

(™ 24+(-18)= @ 24-(-18)=
(-15)+9= (-15) -9 =




=== =

SRR HERE WZE‘(’:TJ:[@?%L‘@ET FEER 5k

- REEEEERT
fffk%[S*vﬁgw'r+5;?ﬁJ I 5 253
(- _KE% ﬁ’ﬁ,pﬁf@@i\fﬂ_t;

»bw

5t
=x
. 1

)
R

e ESNNS !

[o0) | pie)

1. = f\."ééfﬁﬁﬁr’j([ﬂfﬁ%ﬁ ?
2. BB PR RS 2

3. = NEMUAAYIF A ?

4. — RFpRE R R 2
5. = YRR A 2

6. Ez\*ﬂpﬁfrﬂ“{/pﬁ%ﬁ ?

(C) S R SR T 2y B TS gL 3

Sl

G

[pibesel] pigy]

1. = ~ixpy jm‘{/pm #A. ?

y.\

2. [~ i i 7fs (/[Im #A.9?

3. = gk yplﬁ HA ?

4, — Z\ﬁfjpfﬁfr’\j’{/p[’ﬁ?ﬁ ?
5. T SRV A ?

6. = :\TIJFIJ YR F 2

SN 3 S

_[.
e SR SR R

(1 2x3

—>
@ (-2) x3

—
3 3x(2)

—
@) 2 x(-3)

—

ok AR

[(-Bf=l ) 8] pos | [T-80f=T] prgr] poss

[pigebar o8] possae | [Eigehar) fise) posss!







